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1 	Introduction
[bookmark: _Hlk39586706]In RAN4#104e meeting, the performance part of NR positioning enhancement requirements was completed. In this contribution we will provide further considerations on PRS performance requirement below. 
· SINR side condition with reduced number of samples
2 [bookmark: _Hlk37427345]SINR side conditions with reduced number of samples 
In R4#104e, the side conditions for PRS measurements were agreed as below[1].
	Issue 3-3-2: UE Rx-Tx time difference higher side condition (with reduced number of samples)
Agreements:
· Define UE Rx-Tx time difference accuracy with reduced number of samples at higher PRS Es/Iot and for PRS BW ≥ 48 PRBs based on the existing Rel-16 UE Rx-Tx time difference accuracy at PRS Es/Iot ≥ -3dB. 
· Keep higher PRS Es/Iot as TBD and identify the value in the next meeting as part of maintenance work. 
· For simulation, assumptions in R4-2120330 can be reused with Es/Iot values 3dB, 0dB, and -3dB. The other values of Es/Iot are not precluded.




However, the value of higher SINR side conditions with which the same accuracy requirements are defined for the scenario with reduced number of samples is still TBD.
Based on the simulation results with the different SINR side conditions (e.g. -3dB, 0dB) below, we can conclude that:
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Figure 1. Simulation results for UE Rx-Tx time difference
Observation 1: for UE Rx-Tx time difference measurement, when SINR is -3dB, the performance with 1 measurement sample can be quite closed to that with 4 samples.
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Figure 2. Simulation results for PRS-RSRP
Observation 2: For PRS-RSRP measurement, when SINR is -3dB or 0dB, the performance with 1 measurement sample is worse than that with 4 samples about [0.5dB]. The SINR increased may not completely immigrate the PRS-RSRP variance among these with 4 samples and 1 sample.
Therefore, we can propose that:
Proposal 1: The higher SINR side condition for UE Rx-Tx time difference measurement can be -3dB.
Proposal 2: The higher SINR side condition for PRS-RSRP measurement can be -3dB. And the additional margin [0.5dB] can be applied for the accuracy requirements of PRS-RSRP measurement with reduced number of samples.



3 Conclusion
In this contribution, some considerations on the performance requirements of PRS measurements with reduced number of samples are provided and the following observations and proposals can be drawn: 
Observation 1: For UE Rx-Tx time difference measurement, when SINR is -3dB, the performance with 1 measurement sample can be quite closed to that with 4 samples.
Observation 2: For PRS-RSRP measurement, when SINR is -3dB or 0dB, the performance with 1 measurement sample is worse than that with 4 samples about [0.5dB]. The SINR increased may not completely immigrate the PRS-RSRP variance among these with 4 samples and 1 sample.

Proposal 1: The higher SINR side condition for UE Rx-Tx time difference measurement can be -3dB.
Proposal 2: The higher SINR side condition for PRS-RSRP measurement can be -3dB. And the additional margin [0.5dB] can be applied for the accuracy requirements of PRS-RSRP measurement with reduced number of samples.
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